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Exercise

1. Whch one of the following conversions is

correct among the following sets of quantum

number?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NyujtgaDE1mj


A. n = 5, l=2, m=1, s=1/2

B. n = 3, l =1, m= 0. s=1/2

C. n = -5 ,l = l, m = 2, S = 1/2

D. n = 4,l = l , m = - 2,S = 1/2

Answer:

Watch Video Solution

2. In which of the following conversions there

are changes of hybridisation and shape?

https://dl.doubtnut.com/l/_NyujtgaDE1mj
https://dl.doubtnut.com/l/_YKArsR8qg4QK


A. 

B. 

C. 

D. `H_2O rarr H_3O^(plus)

Answer:

Watch Video Solution

CH4 → C2H6

NH3 → NH
⊕

4

BF3 → BF4Θ

3. The correct bond order of Nitrogen and its

diffrent ions is

https://dl.doubtnut.com/l/_YKArsR8qg4QK
https://dl.doubtnut.com/l/_NTy4Ke6uhunC


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

N 2 −
2 < N − <

2 N2

N2 < N 2 −
2 < N −

2

N ≺
2 N 2 −

2 < N2

N ≺
2 N2 < N 2

2

4. Which one of the following compounds is

not polar?

https://dl.doubtnut.com/l/_NTy4Ke6uhunC
https://dl.doubtnut.com/l/_eoXgsHrVGHPs


A. 

B. 

C. 

D. `BF_3

Answer:

Watch Video Solution

N2O

H2O

NF3

5. Which gas among the following exhibits

maximum critical temperature?

https://dl.doubtnut.com/l/_eoXgsHrVGHPs
https://dl.doubtnut.com/l/_hFyqxfv2uwfO


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

N2

O2

CO2

H2

6. Which one is the correct unit of entropy?

A. K − 1mol− 1

https://dl.doubtnut.com/l/_hFyqxfv2uwfO
https://dl.doubtnut.com/l/_F0GqYIoOLOzf


B. 

C. 

D. 

Answer:

Watch Video Solution

JK − 1mol− 1

JK − 1

J − 1K − 1mol− 1

7. For the reversible reaction A =+ 2B  C+

Heat the forward raction will proceed at

A. Low temprature and low pressure

↔

https://dl.doubtnut.com/l/_F0GqYIoOLOzf
https://dl.doubtnut.com/l/_FiPzGr6cCH4N


B. Low pressure

C. high pressure and low temperature

D. high pressure and high tempreture

Answer:

Watch Video Solution

8. Which one the following is true for a

spontaneous process?

A. ΔG = 0

https://dl.doubtnut.com/l/_FiPzGr6cCH4N
https://dl.doubtnut.com/l/_oqRrC5Tw9GSy


B. 

C. 

D. 

Answer:

Watch Video Solution

ΔH = T ΔS

ΔG > O

ΔG < O

9. Which one of the following compounds is

not polar?

A. CaCl2

https://dl.doubtnut.com/l/_oqRrC5Tw9GSy
https://dl.doubtnut.com/l/_D5uEJeZ7TFJT


B. 

C. 

D. 

Answer:

Watch Video Solution

NaCl

MgCl2

BeCl2

10. Which one of the carbonions is the most

stavbl?

A. CH3Θ

https://dl.doubtnut.com/l/_D5uEJeZ7TFJT
https://dl.doubtnut.com/l/_LU7XfPoytnkv


B. 

C. 

D. 


Watch Video Solution

CH3CH2Θ

CH3 − C
∣

CH3

H Θ

11. Which of the following alkaline earth metal

carbonates is thermally least stable?

A. BaCO3

https://dl.doubtnut.com/l/_LU7XfPoytnkv
https://dl.doubtnut.com/l/_dwpBwPQepc4l


B. 

C. 

D. 

Answer:

Watch Video Solution

CaCO3

SrCO3

BeCO3

12. Which one of the following acids is used in

friendel-Craft's reaction?

A. HClO4

https://dl.doubtnut.com/l/_dwpBwPQepc4l
https://dl.doubtnut.com/l/_VxTfDdnVBDOd


B. HCl

C. 

D. 

Answer:

Watch Video Solution

HNO3

BF3

13. Which reagent can be used to istinguish

between the Propene and propyne?

A. Cocentrated2SO4

https://dl.doubtnut.com/l/_VxTfDdnVBDOd
https://dl.doubtnut.com/l/_txZ5NGKOvrWm


B. 

C. Dilute

D. Ammonicial 

Answer:

Watch Video Solution

Br2 and Cl4

H2SO4

AgNO3

14. Which of the following matallic air pollutants

is present in the gas emitted by moter vehicles

A. Iron

https://dl.doubtnut.com/l/_txZ5NGKOvrWm
https://dl.doubtnut.com/l/_KeuXm5BtHU3J


B. Lead

C. Copper

D. Mercury

Answer:

Watch Video Solution

15. Between 100 ml  and 100 ml . which

one has greater mass at constant temperature

and pressure?

Watch Video Solution

CO2 NH3

https://dl.doubtnut.com/l/_KeuXm5BtHU3J
https://dl.doubtnut.com/l/_EHDL4gp04u42


16. Write the number of molecules present in

one millions of 

Watch Video Solution

SO2

17. What will be the order of Ma, Mg, Al and Si in

terms of first ionization. enthalpy?

Watch Video Solution

https://dl.doubtnut.com/l/_EHDL4gp04u42
https://dl.doubtnut.com/l/_A7uhXSvt73zR
https://dl.doubtnut.com/l/_4lbfsSkUfjr4


18. Arrange the following ions in ascending order

of their ionic radic .

Watch Video Solution

Na + , F − , O2 − , Mg2 +

19. Write th e name and the structural formula of

the product obtained when hydrogen bromide

reacts with propene in presence of benzoyl

peroxide.

Watch Video Solution

https://dl.doubtnut.com/l/_YAc9s6CRG3W5
https://dl.doubtnut.com/l/_sDkSpfQUWAbz
https://dl.doubtnut.com/l/_pZFMQEZ5xado


20. Identify the compounds A in the following

reaction : < br> 

Watch Video Solution

CH3 − C ≡ CH
20 % H2SO4

−−−−−−→
Hg2 +

A

21. How many moles of  will be present as

a residue when  number of

molecules are removed form 400 mg ?

Watch Video Solution

H2SO4

3.0115 × 1021

H2SO4

https://dl.doubtnut.com/l/_pZFMQEZ5xado
https://dl.doubtnut.com/l/_zUAmiRvTT9Pf


22. Explain why  is not hydrolysed while 

is hydroglysed

Watch Video Solution

Cl4 SiCl4

23. What happens when borax is heated

strongly?

Watch Video Solution

https://dl.doubtnut.com/l/_DDbFWkFM8ttt
https://dl.doubtnut.com/l/_4747qLQO83oT


24. Why are the dihalides of carbon unstable but

the dihalides of tin and lead are stable?

Watch Video Solution

25. Why is the aqueos solution of borax alkaline?

Watch Video Solution

26. Why can  behave both as

nucleophile and electrophile?

CH3CN

https://dl.doubtnut.com/l/_JAcECH8bnuAo
https://dl.doubtnut.com/l/_9lle7aN1UQeA
https://dl.doubtnut.com/l/_EAVuSAoqTNxq


Watch Video Solution

27. Write donw the IUPAC name of the folloiwng

compound: 

Watch Video Solution

CH3COCH2C
∣

Cl

HCOCH3

28. Write down the structural formula of the

following compound Hex-I-ene-4yne

Watch Video Solution

https://dl.doubtnut.com/l/_EAVuSAoqTNxq
https://dl.doubtnut.com/l/_bT6GwDgvQnUh
https://dl.doubtnut.com/l/_tkYjHzttytQt


29. Arrange the followig radicals in increasing

order of -I effect. 1,Br,Cl,F

Watch Video Solution

30. Write the structural formula of the following

compound 5-amino pent-3-enoic acid.

Watch Video Solution

https://dl.doubtnut.com/l/_tkYjHzttytQt
https://dl.doubtnut.com/l/_EF5N1NFeh0b6
https://dl.doubtnut.com/l/_xs8WLXNflrpG


31. State the Pauli exclusion principle. write the

electronic configuraitons. of  and

_26Co^(3+)`

Watch Video Solution

_ 24Cr3 +

32. Why is the electron gain enthalpy of oxygen

is less than that of sulphur?

Watch Video Solution

https://dl.doubtnut.com/l/_qpmAcQicFPBe
https://dl.doubtnut.com/l/_4p5HrA6uJv8L


33. Arrange the following metal oxides in terms

of ascending order of basicity. ZnO, MgO, CaO,

CuO.

Watch Video Solution

34. Why is the first ionization enthalpy of helium

maximum among all the elements?

Watch Video Solution

https://dl.doubtnut.com/l/_ww7LG9hpze3T
https://dl.doubtnut.com/l/_zkXrIzlBALPq


35. Arrange the following compounds is terms of

ascending order of oxidising property: HCI, HBr,

HI, HF.

Watch Video Solution

36. Why are the bond angles of  and 

less than the normal values of regular

tetrahedron bond angles in spite of being 

hybridised?

Watch Video Solution

NH3 H2O

sp3

https://dl.doubtnut.com/l/_5tov0Tun3Rov
https://dl.doubtnut.com/l/_q8PCeQzeo1RH


37. Find out the bond order of  ion.

Watch Video Solution

H +
2

38. What are the types of hybridisation of

?

Watch Video Solution

NH
+

4 . CO2 +
3 H2S and SF6

https://dl.doubtnut.com/l/_q8PCeQzeo1RH
https://dl.doubtnut.com/l/_uqVXi2gPXYBO
https://dl.doubtnut.com/l/_1KDgPwH0y9mt


39. C-O bond is polar but  does not have a

dipole moment. Why?

Watch Video Solution

CO2

40. Explain the nature of the graphs of log P

versus log V and log V versus log T.

Watch Video Solution

https://dl.doubtnut.com/l/_9jkYKQxVJ3nf
https://dl.doubtnut.com/l/_8slm16FjxRQU


41. Write the units of Vander Waals constants a

and b.

Watch Video Solution

42. Why is the enthalphy change for a chemical

reaction more important than internal energy

change?

Watch Video Solution

https://dl.doubtnut.com/l/_z8wigepbItEz
https://dl.doubtnut.com/l/_WojKlXIUAqEZ


43. What is meant by isolated system?

Watch Video Solution

44. Find out the heat of formation of

. Given that the heat of combusion

of  is -867 KJ  and the heat of

formation of  and  are - 393.5 and -

285.9 KJ  respectively.

Watch Video Solution

CH3COOH

CH3COOH mol− 1

CO2 H2O

mol− 1

https://dl.doubtnut.com/l/_XV9CeEHPtQCw
https://dl.doubtnut.com/l/_KK78KpvS0sYe
https://dl.doubtnut.com/l/_YZUOAUMYynwp


45. Balance by ion electron method :

Watch Video Solution

Zn + NaNO3 → Na2ZnO2 + NH3 + H2O

46. Give an example of a compound where the

constituent element exhibit fractional oxidation

number.

Watch Video Solution

https://dl.doubtnut.com/l/_YZUOAUMYynwp
https://dl.doubtnut.com/l/_EzuCwZTTmTH2


47. Although  is a stable compound, 

 does not exist Explain why.

Watch Video Solution

KHF2

KHBr2

48. What happens when  is mixed with cold

acidic potassium dichromate solution?

Watch Video Solution

H2O2

49. Why is LiCl soluble in organic solvent?

https://dl.doubtnut.com/l/_CiNuyEn5bvDB
https://dl.doubtnut.com/l/_b5ErclNXH0FX
https://dl.doubtnut.com/l/_e8MQVEAjMrRK


Watch Video Solution

50. Why are fumes seen when barium halides are

kept in open air?

Watch Video Solution

51. Alkali metals become opaque when they are

kept open in air Why?

Watch Video Solution

https://dl.doubtnut.com/l/_e8MQVEAjMrRK
https://dl.doubtnut.com/l/_royt5UWreKUh
https://dl.doubtnut.com/l/_XfxuDIMEdwBL
https://dl.doubtnut.com/l/_Q0vYbQORX7YL


52. Write the basic principles of Solvey process.

Watch Video Solution

53. Arrange the following compounds with

ascending order of boiling point :

Watch Video Solution

HF , H2O, NH3

https://dl.doubtnut.com/l/_Q0vYbQORX7YL
https://dl.doubtnut.com/l/_5dwiON4YDxwp


54.  is insoluble in water, but  is

soluble in water - Explain.

Watch Video Solution

BaSO4 BeSO4

55. Why is ?

Watch Video Solution

CH3)3
(c⊕ )

56. Indicate the electrophilic centre of the

following compounds: CH3CHO, CH3CN

https://dl.doubtnut.com/l/_Gt0vN3JU4L2E
https://dl.doubtnut.com/l/_CSYyKB3Ww9jC
https://dl.doubtnut.com/l/_y5lM2AiQtD4r


Watch Video Solution

57. Express the equilibrium constant of the

reaction in the forms of and - for the

reaction, .Find out

the relation- between them.

Watch Video Solution

Kp Kc

N2(g) + 3H2(g) → 2NH3(g)

58. What is meant by solubility product?

Watch Video Solution

https://dl.doubtnut.com/l/_y5lM2AiQtD4r
https://dl.doubtnut.com/l/_IiOjxD5381cX
https://dl.doubtnut.com/l/_pQPD5e6OZRGf


59. pH of 0.2 mol  chloroacetic acid is .

Find out the degree of dissociation of this

chloroacetic acid.

Watch Video Solution

L− 1 1.7

60. At 1000 K temperature  has pressure fo

0.5 atm in a closed container. On adding some

amount of graphite inside the container . some

amount of  is converted to CO. At

CO2

CO2

https://dl.doubtnut.com/l/_pQPD5e6OZRGf
https://dl.doubtnut.com/l/_hh91G9QJMsTe
https://dl.doubtnut.com/l/_rc0NOmMnN9d9


equilibrium the pressure becomes 0.8 atm. Find

out the value of 

Watch Video Solution

kp

61. What amount of  is to be added

to one litre of  soluton so

that the pH becomes 4.0? [ ]

Watch Video Solution

CH3COONa

0.1(M)CH3COOH

Ka = 1.8 × 10− 3

https://dl.doubtnut.com/l/_rc0NOmMnN9d9
https://dl.doubtnut.com/l/_ufG8bTKk7wIN


62. NaOH solution is added to 

solution?

Watch Video Solution

Al2(SO4)3)

63. All the carbon-Oxygen bonds in  radical

are equivalent- Explain.

Watch Video Solution

CO2 +
3

64. What is meant by common ion effect?

https://dl.doubtnut.com/l/_pSqJaX03QMxR
https://dl.doubtnut.com/l/_haNhm7BJAHaf
https://dl.doubtnut.com/l/_oxz2jrgTk6cb


Watch Video Solution

65. What will be the major product when

propyne is treated with aqueous ?

Explain with equation.

Watch Video Solution

H2SO4

66. An Alkene gives same product on ozonolysis

and on oxidation with  . Write down theKmnO4

https://dl.doubtnut.com/l/_oxz2jrgTk6cb
https://dl.doubtnut.com/l/_NSxCiMjtMxYT
https://dl.doubtnut.com/l/_uAWmq3nGo1HQ


structure of the alkene and give arguments in

favour of your answer.

Watch Video Solution

67. Ar, organic compound (A),  is insoluble

in aqueous  but souble in NaOH. (A),

on treatment with bromine water rapidly forms

compound (B), . Give structures of (A)

and (B) . What will be (A), if , it does not dissolve

in NaOH solution but shows reactions given

above?

C7H8O

NaHCO3

C7H5OBr3

https://dl.doubtnut.com/l/_uAWmq3nGo1HQ
https://dl.doubtnut.com/l/_a6rlPf4x51b9


Watch Video Solution

68. Diethyl ether behaves as a base- Explain the

statement.

Watch Video Solution

69. Among benzene and toluence, which one will

undergo nitration reaction easily and Why?

Watch Video Solution

https://dl.doubtnut.com/l/_a6rlPf4x51b9
https://dl.doubtnut.com/l/_WU3xkf8CtCBq
https://dl.doubtnut.com/l/_MyVTZGlVbT4T

